

NAME: AWALA DIVINE PAUL
MATRIC NUMBER: 19/ENG05/016
DEPARTMENT: MECHATRONICS ENGINEERING
COURSE CODE: MAT 104

COVID – 19 HOLIDAY ASSIGNMENT

QUESTIONS

Find the integral of the following:

- (a) $x^2 \sin x \, dx$
- (b) $3te^{2t} \, dt$
- (c) $2x^2 \ln x \, dx$
- (d) $\frac{(2x - 3x^2)}{(1 - x)} \, dx$

SOLUTION

(a) $x^2 \sin x \, dx$
 $\int x^2 \sin x \, dx$

Using integration by parts

$$\int U \, dv = UV - \int V \, du$$

$$U = x^2$$

$$dv = \sin x$$

$$\int dv = V = -\cos x$$

$$\frac{du}{dx} = 2x$$

$$\begin{aligned} \int x^2 \sin x \, dx &= x^2 \cdot -\cos x - \int -\cos x \cdot 2x \, dx \\ &= -x^2 \cos x - \int -2x \cos x \, dx \end{aligned}$$

$$\begin{aligned} \text{But } \int -2x \cos x \, dx \\ &= -2 \int x \cos x \, dx \end{aligned}$$

Integrating $\int x \cos x \, dx$ by parts

$$\begin{aligned} \int x \cos x \, dx &= x \sin x - \int \sin x \, dx \\ &= x \sin x - (-\cos x) \\ &= x \sin x + \cos x \end{aligned}$$

$$\begin{aligned} \text{Thus } -2 \int x \cos x \, dx &= -2(x \sin x + \cos x) \\ &= -2x \sin x - 2 \cos x + C \end{aligned}$$

$$\begin{aligned}
\text{Hence } \int x^2 \sin x \, dx &= -x^2 \cos x - (-2x \sin x - 2 \cos x) \\
&= -x^2 \cos x + 2x \sin x + 2 \cos x + C \\
&= 2x \sin x - x^2 \cos x + 2 \cos x + C \\
\therefore \int x^2 \sin x \, dx &= 2x \sin x + (2 - x^2) \cos x + C
\end{aligned}$$

(b) $3te^{2t} \, dt$

$$\begin{aligned}
&\int 3te^{2t} \, dt \\
&= 3 \int te^{2t} \, dt
\end{aligned}$$

Using integration by parts

$$\int U \, dv = UV - \int V \, du$$

$$U = t$$

$$dv = e^{2t}$$

$$\int dv = v = \frac{e^{2t}}{2}$$

$$\frac{\partial u}{\partial t} = 1$$

$$\begin{aligned}
\int te^{2t} \, dt &= t \cdot \frac{e^{2t}}{2} - \int \frac{e^{2t}}{2} \cdot 1 \, dt \\
&= \frac{te^{2t}}{2} - \int \frac{e^{2t}}{2} \, dt
\end{aligned}$$

$$\text{But } \int \frac{e^{2t}}{2} \, dt$$

Substituting $u = 2t$

This implies that $\frac{\partial u}{\partial t} = 2$

Thus $\partial t = \frac{1}{2} \partial u$

$$= \frac{1}{2} \int e^u \cdot \frac{1}{2} \partial u$$

$$= \frac{1}{4} \int e^u \, \partial u$$

$$= \frac{1}{4} \cdot e^u$$

$$= \frac{e^u}{4}$$

$$\int te^{2t} \, dt = \frac{te^{2t}}{2} - \int \frac{e^{2t}}{2} \, dt$$

$$= \frac{te^{2t}}{2} - \frac{e^u}{4}$$

$$= \frac{te^{2t}}{2} - \frac{e^{2t}}{4}$$

Thus $3 \int te^{2t} \partial t = 3\left(\frac{te^{2t}}{2} - \frac{e^{2t}}{4}\right)$

$$= \frac{3te^{2t}}{2} - \frac{3e^{2t}}{4} + C$$

Hence $\int 3te^{2t} \partial t = \frac{3te^{2t}}{2} - \frac{3e^{2t}}{4} + C$

$\therefore \int 3te^{2t} \partial t = \frac{3(2t-1)e^{2t}}{4} + C$

(c) $2x^2 \ln x \partial x$

$$\int 2x^2 \ln x \partial x$$

$$= 2 \int x^2 \ln x \partial x$$

Using integration by parts

$$\int U \partial v = UV - \int V \partial u$$

$$U = \ln x$$

$$\partial v = x^2$$

$$\int \partial v = V = \frac{x^3}{3}$$

$$\frac{\partial u}{\partial x} = \frac{1}{x}$$

$$\int x^2 \ln x \partial x = \ln x \cdot \frac{x^3}{3} - \int \frac{x^3}{3} \cdot \frac{1}{x} \partial x$$

$$= \frac{x^3 \ln x}{3} - \int \frac{x^2}{3} \partial x$$

But $\int \frac{x^2}{3} \partial x$

$$= \frac{1}{3} \int x^2 \partial x$$

Also $\int x^2 \partial x = \frac{x^3}{3}$

And $\frac{1}{3} \int x^2 \partial x = \frac{1}{3} \times \frac{x^3}{3} = \frac{x^3}{9}$

Thus $\frac{x^3 \ln x}{3} - \int \frac{x^2}{3} \partial x$

$$= \frac{x^3 \ln x}{3} - \frac{x^3}{9}$$

Hence, $2 \int x^2 \ln x \, dx = 2\left(\frac{x^3 \ln x}{3} - \frac{x^3}{9}\right)$

$$= \frac{2x^3 \ln x}{3} - \frac{2x^3}{9} + C$$

$$\therefore \int 2x^2 \ln x \, dx = \frac{2x^3(3 \ln x - 1)}{9} + C$$

(d) $\frac{(2x - 3x^2)}{(1 - x)} \, dx$

$$\int \frac{(2x - 3x^2)}{(1 - x)} \, dx$$

$$= \int \frac{x(3x - 2)}{(x - 1)} \, dx$$

Substituting $u = x - 1$

This implies that $\frac{\partial u}{\partial x} = 1$

Thus $\partial x = \partial u$

$$= \int \frac{(u + 1)(3u + 1)}{u} \, du$$

$$= \int \frac{3u^2 + u + 3u + 1}{u} \, du$$

$$= \int \frac{3u^2 + 4u + 1}{u} \, du$$

$$= \int \left(3u + 4 + \frac{1}{u}\right) \, du$$

$$= \int 3u \, du + \int 4 \, du + \int \frac{1}{u} \, du$$

$$= 3 \int u \, du + 4 \int 1 \, du + \int \frac{1}{u} \, du$$

$$= 3 \cdot \frac{u^2}{2} + 4 \cdot u + \ln u + C$$

$$= \frac{3u^2}{2} + 4u + \ln u + C$$

$$= \frac{3(x - 1)^2}{2} + 4(x - 1) + \ln(x - 1) + C$$

$$\therefore \int \frac{(2x - 3x^2)}{(1 - x)} \, dx = 4(x - 1) + \frac{3(x - 1)^2}{2} + \ln(x - 1) + C$$